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(1] XKoo 5 (differential equation) D —fi%fi# (general solution) % K& K.

(1) 5x—y—3=(@x+y—5=

d_y — p,—Sinx
2) 1. Tycosx=e

a2y a9 _ gptx
(3) SZ+4Z+13y =9

([ 2] EAEIERTH 2 xy Wi Lo R
ax?+ 2lxy + by? + 2mx +2ny+c =0
I,

EBLE, UFOLYIcREND.
xTAx +2bTx+¢c=0
Z 2T, HE®DT (345 (transposition) ZF 7.
PLEZEE 2, OB (function) f (2 DWW TLL FORIVWIZE 2 L.
fi x2=2xy+y*—-2x—-y—-1=0

(1) Bk f oW, 1780 (matrix) A &X7 Fbb, MOVEEcZ KD K.

(2) 1THIAD[E A fE(eigenvalue)d, £ A, ZRD L. 72k, 1, <A, T 5.

() LKAV DENZENIIKET D, ERILSINTZEA 2 L (eigenvector) p, & Up, %
ROX. 2L, pr® AT 1 FIERSIC OV Tk entry (1,1)>0 &3 5.

(4) FEFEAHATH] (coordinate transform matrix) PAZP = (P1 P2) & EF L, B f OIE%ETE
(standard form) & P TRIN DB DOLAFR (geometric shape) A& X L.

(3] &H2ENITASHES (urban area) &AL (rural area) (& 53 S4LD. ZOHESHTES & EATED
DEF-O N 1% E) (population migration) Z A L7 & Z A, #HE D a[%] 53 A5~ (urban
a [%]torural areas), WIZEZREBDb[%] AT~ (rural b [%] to urban areas) > T\ %
e gnol. ZOEOKANNITZED BT (total population remains unchanged), % 7= [E4f
EDITERITINS D L F 5 (no migration from/to other countries) .
Z I CHIIEOHEBTE A Hxy & BB D N My, (current population) (3x, = [¥o  Yo]T TH U,
nFt% D AN (population after n years) & ZiILEIX, = [¥n YulT & T 5. AEOTIXEEE R
5T % (T denotes the transposition of a vector.) .
TR (n - oo), ALHTES & AT O A 1 (urban and rural population after a sufficient
number of years) X ED X 512725702 % T L THE XK.
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